Percentage Increase and Decrease
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£350 increase by 18%
£425 increased by 9%
£127 decreased by 19%
£148 decreased by 13.5%

A house price is reduced by 8% it originally cost £99,995.
How much does it cost now?

The minimum wage is increased by 1.7% it originally was £6.10.
How much is the minimum wage now?
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Remember

New amount = Original x multiplier

Can you find what the original
price is?

A coat was reduced by 13% in a
sale. The sale price is £52.20.

How much did the coat cost
before the sale?

How much money are you
saving?
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MEMORY

Remember how to make your multiplier.
Increase by 15%
100% + 15% = 115%
115+100=1.15
Decrease by 15%
100% — 15% = 85%
85+100=0.85

2)

3)

5)

6)

SKILL

£350 increase by 18%

1.18 x 350 = £413

£425 increased by 9%

1.09 x 425 = £463.25

£127 decreased by 19%

0.81x 127 =£102.87

£148 decreased by 13.5%

0.865 x 148 = £128.02

A house price is reduced by 8% it originally cost £99,995.
How much does it cost now?

0.92 x 99995 = £91,995.40

The minimum wage is increased by 1.7% it originally was £6.10.
How much is the minimum wage now?

1.017 x6.10 = £6.2037 - £6.20 (2 d.p)

STRETCH

Remember

New amount = Original x multiplier

Can you find what the original
price is?

A coat was reduced by 13% in a
sale. The sale price is £52.20.

How much did the coat cost
before the sale?

52.20 = Original x 0.87
Original =52.20 + 0.87 = £60
How much money are you
saving? £7.80




